=1

WIT-3 / SECTION-A
TTHT G A UF a2 9% 0 e 52
Why are the magnetic field lines closed curves ?
R # deary = st g = T fafed

Name the hormone secreted in boys at puberty.

R HHll &+ T FE Y2 b ma am d 2

Why are the solar cookers painted black ?

Hfcags Slamnes wa @ afufemn w1 Hfeom meeivee a9 31 swis sfufes =
Getfern TR i fafed | ot afufen = aer o e

Calcium oxide reacts with water to give calcium hydroxide.
Write the balanced chemical equation for the above reaction. Also identify the type of
chemical reaction.

(i)  9RE w uF FEE fEtad

(i) ™ FEHEEE 9 FEi-C B AT G 0@ U iwRe § a5 aEas
HE?

(1) Name an ore of mercury.

(i)~ Why must metal sulphides and carbonates be converted into metal oxides
prior to reduction ?

(a) = Hree it uftam i

(b)  Toregm wftwel 5 PG: SEm € 9 T aagdl & Tl e
(i) oA e (i) =

(a) Define one volt.

(b) Draw symbols of the following components as used in circuit diagrams :
(i) electric bulb {ii) ammeter

Tl o &9 A, A9 sfaen fom, e o 9 TeE w A s w5 e
Freif %01 & Frem F1 T qun frem fofed ) fage aved = o SaeT 85 @
THEM FA gl F AW fafad

Name and state the rule to determine the direction of a force experienced by a

current carrying straight conductor placed in a magnetic field which is perpendicular
to it. Name a device that uses current carrying conductor and magnetic field.

(a) TrefEfea sivimme 3§ svafra o sarm yee & 9w fafed
()  FepOs + 2Al— Aly Oy + 2Fe
(ii) 2PbO + C —2Pb + COs
(b) =T afulrs = afym 37
(a) Identify the substances that are oxidized and the substances that are
reduced in the following reactions :
(i) FegOs + 2A] — Al, O3 + 2Fe
(i)  2PbO + C—2Pb + COy
(b)  What is meant by redox reaction?
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10.

11.

12,

13.

14.

Fr=fefiga & o it .

(a) ﬁ%ﬁﬂﬁaﬁﬁ@'Hﬁﬂﬂﬁﬁﬁ%ﬁ?ﬁﬂ??ﬁmﬁﬂ{{ﬁﬂﬂﬁﬁiﬁﬂm
2l

(b) I FTEA UF FOEG sfafEa ¥

(c) TR FEET S T S0 aEEE B

State reasons for the following :

(a) Iron articles get coated with a reddish brown powder when left for
sometime in open.

(b} Burning of coal is an exothermic reaction,

(<) The chemical equations should be balanced.

(@) HvAEd Y= a9 T GaT T UH- 2 A

(b) ﬁﬁﬁmsﬁﬁmwﬁqwmﬁ%?aﬂmaﬁﬁm#mwﬁ[ﬁ
S Ho ] EHTE Ha E 7

{a) State one example of a synthetic indicator and an olfactory indicator ?

(b) How do bacteria decay our teeth ? Why do we basic tooth pastes for
cleaning our teeth ?

(a) @ A * TEEE v FaeEE T T A 5

(b) Wifegn Fiwms (NaCl) % T &1 vfEm weeei & wamiaor 2r =9kl
(FREIY] WA - Na - 11, C1 - 17)

(a) Why do ionic compounds have high melting and boiling points ? fu ¢

(b) Show the formation of sodium chloride {MNaCl) by the transfer of electrons
(atomic number - Na - 11, Cl - 17)

it T o 7t a9 iz 200 v = o @ waifw #1 wEE W 30 O WY a1 @
Feferdl A 7o B ¥ 5% yor-gus, S § o uredEe 3§ ST B S gEa B
il =92 § SEvas 9w oE 59 Fied |

A hot plate of an electric oven, connected to a 220 V line. It has two resistance coils A
and B each of 30 (2 resistance which may be used separately, in series or in parallel.
Find the value of the current required in each of the three cases.

frfatas & smm =i

() 5 F g FTH H T w1 Sug g

(b) e Ygffan w1 g faem d v e g

() forep A Af, S o sl wen 2ren & wErE: faawme @ s a2
State reasons for the following :

(@)  Tungsten is used for making bulb filaments

(b) Copper and aluminium are generally used for electricity transmission.

(c) Alloys are commonly used in electrical heating devices such as electric iron
and toaster,

AC. T D.C. ¥ T% 7= o=w fafed | fogm vfm =) 9 = w 3 =0 & e
D.C. it §oF1 5 AC %1 Wi =4 €1 =l 87 D.C a9 A.C. Teiw %1 U 5 fafiad |

State one main difference between A C and D.C. Why AC is preferred over D.C for
long range transmission of electric power ? Name one source each of D.C and A.C.
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15.

16.

17.

18.

15.

8 = =@ fErEd T F e a9 a4 89 F WA $ i S Sl B w5
= a3 S 5 yen = w1 87

List two functions of stomata. Name the cells which contrel the opening and closing
of stomata. How do they perform this function ?

During respiration, pyruvic acid is produced as end product of glycolysis.
State the end products formed from it on further breakdown in each of the
following cases :-

(a) yeast in absence of oxygen.

(b) lack of oxygen in muscles

(<) Presence of oxygen in mitochondria

T 45 = U = T wARd au Fretaiad 9 8 § T9E w1 U 6 g e
=it |
(@ & (b) AR

Draw a neat diagram of a neuron. Label the following parts and state one function of
each :
{a) dendrite (b) axon

w5 fafy = T fofad e aiesE sal 50 o4l 8 AifesE 59 Soet 3 99% 9
7o % 7 faf@d | ged T W TSEE 59 #3949 054 5 i 3 SR aied |
MName the process through which nuclear energy is generated. State two examples of

elements which are used for nuclear energy generation. List any two reasons which
make large scale use of nuclear energy prohibitive.

79 Wit T 5 e weveA w1 uw oy aw v wf fereE rs B B G ol o
Tt fore frafon =1 Ty sHa gm0y g o0
State an advantage and a disadvantage of electricity generation through hydropower

plant. Name two dams/ projects which faced opposition over their construction from
the local public.

fafi v el o WS WIgET 1 9ERA S S a9 Aavawa €2 e A
s faf g v @ wga & Tm fated) R ug ) e s s
fafu—mifes fos s aoisd | farlt fafare arg % ofteor 5 g -
H TE
(i) e T o sroea ¥ v warl % AW fated |
State the need for refining of metals obtained by various reduction processes ? Name
any two metals which are refined by the process of electrolytic refining. Draw a
labelled diagram showing electrolytic refining of any metal. Name the substances
which are used for making
(i) anode
(i) cathode and the electrolyte during this process for a particular metal.

2e4Er < OR

ey =t wftsrs =it | = Form W o ST & 2 faang P = FE o e fated )
Orem T e fafEd | o ) e T wafaesa 6 5 o $7 9 SR S )

Define an alloy. How is an alloy prepared ? State one advantage of making alloys.
Write the composition of stainless steel. Why is it preferred over iron ? State two
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reasons.

TR H 33t THe w9 & foe e it o = wim g & A 9 weem w 5
IHE A T T At g3 fafed ) o) = Iem w1 =) fafu 51 oot odem
fafed =iffm X &t vafa Fdt §2 X =1 v w amfm o sw@m fafed x #)

R ot H frar wowra fasw = ee W 9w fotEd) 39 gy aEs | H d

T4 ST = # 2

A compound ‘X’ is used in the kitchen for making crispy pakoras. Identify the
compound and write its common name and chemical formula. Write the chemical
equation of the process by which "X’ is produced. What is the nature of compound
X ? State one use of “X’ based on its nature. Name the powder or mixture obtained by
mixing ‘X’ with tartaric acid. Why is this mixture/ powder added to cakes ?

YET £ OR

ol fFamree s/ Z9isd T & gothe e o fheem =1 o0 o 21 o 99
FIT Hethe 1 9 fofad |

Trtzer W@ &t afvam SR U9 91 R avi F serw St el feeeem w9
B gl

Describe an activity to show that thé crystals of copper sulphate contain water of
crystallization. Write the formula of hydrated copper sulphate.

Define water of crystallization. State two more examples of salts which have the
water of crystallization.

I % Fam fafad | dm 5 faw = afnds =es fafed) 39 999 ¥ 1 W = 5
wiraifys S| Tafes Tagm i =1 duies § g4 =0 31 3 ofm fafad

State Ohm’s law. Write the mathematical representation of Ohm's law. Use this
relationship to define 1 ohm. List two disadvantages of connecting different electrical
appliances in series.

HEET 2 OR

Wied it qR9mE EieE | UF AR a0 U a2 Ha 1 S witad | fEeE s % s
T AYIS] 915 | HaY T S |

1000 W, 220 V STTAAIF 1 =5 fag &3 2 52 wfafes =emn sm &1 ° 5.00 95 kWh &
= H 30 o a% 58 =wn ¥ = 1w el = aen ol wifed

Define power. State the difference between 1 watt and 1 watt hour. Establish the
relationship between unit of electric energy and SI unit of energy.
An electric heater rated 1000 W/ 220 V operates 2 hours daily. Calculate the cost of

energy to operate for 30 days @ * 5.00 per kWh.

(i) &R W o = faE enyfd & de d frefafae Yifes ofe = o= fafad - 5
(a) fEg=T3 9 99 SemE an § favEi |
(b) ACH wEME

(i) e farega wfes ofedl # g % 2um ¥ e § fefafaa # gy @1 S
il -
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24,

@)
(i)
(1)

(@)  gHTE o (by =

Write the values of the following physical quantities in connection with

domestic power supply in our country
(a)  potential difference between live wire and neutral wire
(b) frequencv of AC

Explain the role of the following as satety measure in domestic electric

appliances/circuits.
(a) earth wire (b) fuse
Hgar / OR

st 768 e €2 afenfers % et gaw 8 va wrew we e 3
il €1 7w Ffde v 82 fags Saw w1 St g R e S 2 e o

MR ST % H0v 30 ey R = SR gewi 2 v w1 i S

What is a solenoid ? The magnetic field lines inside a solenoid are in the form of
equidistant parallel straight lines. What does this signify ? How is electromagnet

formed ? Draw a diagram to show the field lines of the ma

around a current carrying solenoid.

(1)

(i)

(i)

(i)

(@)
(b)

(2)
(b)

GEER LEGEE IR CicoR bR e Ry Lok i e o
(a) ﬁﬁqﬁﬁﬁﬁ?mﬁﬁ?{?ﬁﬂ%r

(b) @l f2f demen & = w

(C) Bl 391 1 U HEY g

(d) T H dre de § ameE o vgam #

Frefafad & urea & sifm == fafas .
() R

(b)  FEEESE

) ==

Draw a diagram of human digestive system and label the parts :

(a) where digested food is absorbed
(b) which secretes enzyme - try psin
() where digestion of starch staris
(d) through which food is taken to the stomach from mouth
Name the end products formed due to digestion of
{a) proteins
(b) carbohydrates
{c) fats
HEET / OR

etan 5 o % fafis o e go fa ama
Frefeian siq =1 v e 4t .

(i) S VT F e dieE o w5 e o S0 sEvifed S B

(i) AR W SgE A e o T g v w

Draw a labelled diagram showing different steps of nutrition in amoeba.

State one example of an organism that :

gnetic field through and
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26.

28.

29,

(i) breaks down the food material outside the body and then absorb it.
(ii) derive nutrition from plants or animals without killing them.
- < SECTION-B
AT Feise faeem 9 Hifzan gete faeas F 49 ot afafrm os e .
(a) o el = (b)  HarEE Al F
() farrm sfafrm @ (d) Tafamnmm afafea =
The chemical reaction between barium chloride solution and sodium sulphate
solution is an example of :
(a) decomposition reaction {b) combination reaction
(<) displacement reaction (<} double displacement reaction

Tedl TETelt & U T8 W HiA Woid HI9 Gohe fgerad | Sl T A = F 9
W i A e T2, G SEE Has T T St o

@ A (b) EEWH

(€) =@ gt i (d FEEH

An iron nail was placed in a test tube containing aqueous copper sulphate solution.
When the nail is taken out after about half an hour, its surface is coated with :

(a) greenish deposit (b} white deposit

(c) reddish brown deposit (d}) black deposit

Tt 9 7 fou T =R 91 1 pH 1 3 pH 7@ F | 1

difeq FEiHe  TRSEAING a FaF W AT 5
| 11 il Y

e o pH 39 =1 11 7, TaE 8@ SEm

(a)  HEE a0l (b) AW I AAI

(0 LILULIV (d) FEAIV

A student determined the pH of the given four samples using pH paper.
Sodium bicarbonate Hydrochloric acid Lemon juice Distilled water

(=

(=1

I II I IV
The pH paper will turn red/ pink with the following :
(a) IandIIonly (b} Il and 1l only
(© LILILIV (d) IV only

AA 9 H 39 A F D de el 11 3 ww 7 pH TR @ Afem w= femm ga@ A 1
¥

(@) FHw@ (b) HizaH eEgiEEES fawe

(c) = Ta ® e (d) eEEEEE e

A few drops of a liquid "A” were added to distilled water. The water now turned pH

paper blue. The liquid ‘A’ is - [

(a) lemon juice (b) sodium hydroxide solution

(c) common salt solution (d) hydrochloric acid

% wrEAfedl § fomd | oF # 79 HO) (A) 791 g8 § o9 NaOH (B) 91, 921 *R Hifgan
FEIE TN AT HE Ya a1

(a) TEETEl A HUF o I Ft i fre

(b) EEE B w4t i w g e

(c) TETEl A€ TE UM 19 e |

ek
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(d) Al B ¥ U TEH 19 e

A pinch of sodium carbonate was added to two test tubes - one containing dil HC]
{(A) and the other containing dilute NaOH (B). The correct observation was

(a) A brown coloured gas liberated in test tube A

(b) A brown coloured gas liberated in test tube B

(c) A colourless gas liberated in test tube A

(d) A colourless gas liberated in test tube B

o3 § qoiia o7 aw = faeeAi L o, Fen v ¥ 5 & 29 v Ty

|
|
L vig
P

base - EHES N
Bl B bl
o i Iy
: Hii FE T
TR TR e e

. foer EiERE! faerra

I giEds uiem 20 e

(@ 13wnH (b) TEAIIH

(© mamvH (@ I1amIvd

Zinc granules are placed in each of the four solutions I, IL, T and IV as shown :
[ I i
! |

1
T

*-:I:fr ﬂﬁ Er
N

Zinc sulphate L opper Perrins

Alumimum
sulphate

sialulfion =utlpaaate sulphate
solution

sulLElnon solibion

The colour change would be observed in :
(a) land II (B) Il and IT1
{c) I and IV (d) [and IV

Tl weEell | A =1 g wewe faerem | o 3 uw toftee S wd gEn 39 1
Y GYEI 36 $B SE0T 4ia R | 6 U TE e

(@) & = faer e E

(b) Ui T W e T w O W W

(€ U g i FHt iy fwedt

(dy  =ierd gew #i y ol uw TR g fedt

Uma took an aluminium strip and dipped it in freshly prepared ferrous sulphate
solution taken in a test tube. After some time, she observed some changes. One of her
correct observations is :

(a) The green solution remained green.

(b} A black coating deposited on the aluminium strip
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{c) A brown gas is evolved
\ (,d'f A colourless gas with smell of burning sulphur is evolved.
32. SR BE A, B, CAID A uF yam o) ot whrias & fod & < fasmiar (v) =t 1
watied um (1) s 1 soges @ v suew wiwis 96 s’ 32n A9 e fa
STHW uTE i

5 - W # - 4
i ey - g E - 2 -
(A 1 15) LB iy
@ A (b} B )G (d) D

Four students A, B, C and D performed the experiment “To study the dependence of
potential difference (V) across a resistor on the current (I) passing through it and
determine its resistance.” They plotted the graph as shown below:

: el
¥ // W ¥ /v
i 1 4 4§
' o ”
)

- / -
7 P Y >
©

- | 1 - I
& &
The student who has plotted the correct graph is
(@) & (b) B sl iC d D
33, fou v e w5 SAeeaHiE ¢ 1
x-"’ﬁﬂ; 3 s
% _';.
0 ) ;
@ 02V (b) 01V (¢) 005V (d 001V
The least count of the given voltmeter is :
x‘l.‘;rl.r] | :. K
e %
U (V] !
@ 02V (b)) 01V () 005V (@ 001V
M. T wiatvs F 00 F 90 faveia v $1 90 1 W Feia @ e 50 S wEe b, 1
st == 3 ey wftay e == =23 § amifea gm0y 991 72 @8 2
[
oo
Xis)
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36.

(b)  drcedt, wfoieE Fu deeier
(c)  UHie, Wiolea ayl gieegiet
(d) Wi, BT 991 e .
A student draws the following circuit diagram for the experiment ‘To study the
dependence of V on current (I) across a resistor’. The parts labeled X, ¥ and Z in this
diagram are respectively:

'l'z'—

X ,_J

(a) a resistor, a voltmeter and an ammeler
(b) a voltmeter, a resistor and an ammeter
(<) an ammeter, a resistor and a volimeler

(d) a resistor, an ammeter and a voltmeter

w4 g 21wl @ gen 9l 99 0 W 9 o v 1w B s
ey T o6 5 $ofl gedl & 93 detdic 71 geaF fAg P e AR A et 9e @
Hhaw Q W ¥ | Hieesier 1 8 TEgiF 7 -

! .
i u“:‘i&‘

L Ao % 3

P y
(a) 02V by 2V (e} 22w (d 18V
A student is performing the experiment to determine the equivalent resistance of two
resistors when connected in parallel. She observes that the voltmeter pointer is at
point ‘P when key is unplugged and the pointer is at Q when the key is plugged. The
correct voltmeter reading is :

1 §.L L (e 2
s S H&'L‘ﬁ'u- &
22 Q %3
'P -
a) 02V (b) 2V (€} 22V (d) 18V

guitsr F HaTea 2 whreE w0 ge s 0 w0 F ¥ fae sewn w et 1
HHE g1 -

(a)  dicedie, T AN, S, U, Sed & fon an

(b)  UHie, Sieenie, F, uw Fe, @ yies, S0, daeE & fa

() =i, uw, s, Feediey, & wiatvs, SheA ¥ e o, 4=

(d) Ut & wiwiess, $5, deedter, W o fagan )

Choose the appropriate set of apparatus for performing the experiment for finding
the equivalent resistance of two resistors when connected in series :
(a) voltmeter, two resistors, battery, ammeter, connecting wires
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37.

38.

39.

(b) ammeter, voltmeter, key, rheostat, lwo resistors battery, connecting wites

(c) key, rheostat, voltmeter, two resistors, connecting wires, battery

{d) ammeter, two resistors, key, voltmeter, connecting wires

T H o TR i = uh S w=iEtaEn w0 & fon, fae e w1 w5 9 1
(a) U w TE e oA % o et H

® T e d e

(c) T I udAfst § Fared |

(d) 99 = o e g w5

To make the leaves of a potted plant starch frec, a student should -

{a)  keep plant in dark for one or two days

{b) boil the leaf in water

{c) boil the leaf in ethanol

(d) cover the plant with transparent polvthene

el Bl AT H I9eH F o0 59 9% = T S Sie =i 1

(a)  UEHTE T TEEW

(b) TR WE = Ao

(c)  WeHTe wuigle = faerm & Fwn

(d) T 9O By E widfadE 91 e

A water bath must be used to boil leaf in cthanol because :
(a) ethanol catches fire

(b) ethanol burns the leaf

{c) ethanol cannot dissolve chlorophyll
(d) the leaf is not destarched properly

TR % 5 v #1 9mg = F1 e = ararl amRY 9 ° UE A Meid w1 1
FAN Bl & i -

(a) HEU FEE WA FFal 8

(b) W ATE feEE A &

(c) T TR SEifar smme T = wE |

(d) T R ISR EE w9

A drop of glycerine is used to prepare a lemporary mount of leaf peel to show
stomata so that :

(a) material may stick on the slide

{b) visibility of the material becomes clearer

(c) material is not attacked by the bacteria

(d) material may not get dried up

it i SRl T R e %1 Sl iy 9qid gu e ferg w1 i | wE Tfen 1
(@) % Foigerl | a5 forw )
(by il = = FweE F fau
(€  ud % faeeh % S ywr | fom w1 F o
(d) = = e & o
While preparing the temporary mount of leal peel, the cover slip should be placed
gently.
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